Bpo\ndiua Brockets

Exgond amd ‘(\M‘»Q\a
A1rSY ,  (-32) , (204DUS-7x) , (227 9)(3x-5y),
(3e,*—zé+s)(é-mm\ , (6= (26+ 1), (+D(2+2) +(3-2)(2+2) ,
(x+y)* , (26-3), (2+4)} P (Zp’g)z

(-(+y) , (DL + xy +~a‘—)



Bpo\ndiua Brockets

E)(qm\ti and ‘('M‘*“‘Q‘ﬁ

3(1‘1—*—5\ = 2SS + 7,£+5—+ 7i¢-|:§ - é_)£+ E
N\
3(2x+5) = 3x2x+ 3x5

~—

bx + 15

7~ N\
(F9-3)(-2) = (Fy) x(->+ (~3) x(-)
\—r

\



Bpfmdiua Brackeks

5@,\& ok S\Mp\‘vc\a

L a
(2u3)(i5'?>4 = 22 (5-3x )Y+ 2(5-3x) = 2x x5 + (2 ) () + 3x5 + (-2
~__7 ~_/ o

= 10X+ -l xF L 15 + -2 15

NERE = “Mx® — 11 +15
S| 1o | 15
Sl N At
™| -2 (2x+3)(5-2x) (2x+3)(5 -3 x)
W w

(Z,L'v@x_—/sb) _ éi’r-lo% —':’)1,3 + S\JL = é)(,"'~13363 4’5%‘1/

2 | =Y
b x| By
Sy \ -loxﬂ\ +5y¥




Bpmdiu(cj Brockets

Exopnd aak ‘nggﬁ

(.32,’L ~2L3+ s) (é- .tvx()Q\ = 18’61 -

_13e¢ | -2t | 5
6 [1ge* | 1222 | 20
—2a09| Fpx gt 4284 -Stn00y

e

B Laln) = 12x% 4+ 2533 Lnloey +30 ~ 5 Lnlic

(3¢ =222+ 8) (6- Il

AN\
(- k+2(26+ D = (L7268 L) (26+1) = (£2—L -C)(26+1)
= e

3w 2> 1
(G-3)ke2y(2b+ = 2 L5
E s« € >»2€ = 9%

6 w & x 1 = LY

L X L= 6 = Y4&

Yl v b o> 26 = 6LV
b > 22— x> — 2€
-1 > b 1 = —%¢t

-1 > T >»>1b = -1

=2+ e -6
= 243 -67-136 -6

L _
s R L6



Bpano\iu(c) Brockets

(12 (2+2) +(3-2)(2+2)

——
————

= 2543 42 L 2t 43 0L

= 4z4%

((”4’?7) +(2 -2 )( z+1)

( ¢ )
= ULUzT+Y

X

( T+



B‘pamdiua Brockets

Expad. aak S\!\'\\)\‘%

( x+y)* :(JC*"OQ(/LHO) =X +2Yy Hyx +yt = x T+ z;z,a +3L

(16-3) = (207 +2(2) (-3 + ()T

x J = 4{;7' —12t +9 //%\
(’“"3)3 = (ZA"O)()L-P'O) (XY -;()07'4— Zx@o)

=x* +>LL'(] +2x" 4 +2,x,‘7‘— +>cﬂ_7-’+:73

- A (3 + X4
-5)* = @P)&+3(Zp)7_ [-5) + 2(zp) =5\ + (513 7
s S’I"'L"éola?' + 150 — 15 44

(2

T

{

X

1
1 ]
@ 1 (31
(,)(,-I—:j)t/’ = )cff + 4&7(,3‘9 1 4 6 Y 1
+ oYY E Uyt Ayt



chmdiucj Brockeks

B(‘m\d.ML Sitwph
(x—w) :_:)O‘L_l_%_/ﬁé_ab — L’L_U?_

4&1—3 — (2k)"- (\fE)L
- (Zb . \E) (Z‘c'l'\/—ZS

oS+ +g) = (2 ety syt
‘ @ -ty —xgt =g

x}~33

\

pro)( #:+xy Haog+9¥) = et —yT



